












A#B means A is the father of B. (A, B का पिता है)

A%B means A is the sister of B. (A, B की बहन है)

A@B means A is the wife of B. (A, B की ित्नी है)

A*B means A is the brother of B. (A, B का भाई है)

A&B means A is the son of B. (A B का िुत्र है)

Q- Which of the following means A is the grandfather of R?
पनम्न में से पकसका अर्थ है A,R का दादा है ? 

(1) F&A@J#K%R
(2) U*R%H&A%K
(3) A@H#J*U%R
(4) A@H#K*M#R
(5) A#B*C#R%H

Question -6



Find the option which should replace (?)

66 * 40 = 3
93 * 24 = 2
82 * 20 = ?

A. 5
B. 2
C. 3
D. 4



Find the option which should replace (?)

2.75 : 13/4 :: 3.75 : ?

(A) 17/4

(B) 19/4

(C) 15/4
(D) 11/4



Find the Missing one  (?)

Hand : Finger : Ring
हाथ: उंगली: अंगूठी

(A) Face : Nose : Nose pin / चेहरा: नाक: नाक पिन

(B) Earing : Ear : jewel / कान: कान: गहना
(C) Cap : Head : Hair  / टोिी: पिर: बाल
(D) Anklet : Foot : Ankle / िायल: िैर: िायल



Find the Missing one  (?)

22 : 10 :: 32 : ?

(A) 12

(B) 15

(C) 14

(D) 13



Find the missing :-

(A) 1
(B) 2
(C) 3
(D) 4
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2 4 14

3 5 22

? 6 32



(A) 300

(B) 343

(C) 306
(D) 204



Find the missing :-

(A)16
(B)12
(C) 28
(D)13
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5 4 3

8 7 1

6 2 9

38 15 ?



Find the missing :-

(A)19
(B)17
(C) 15
(D)20
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4 6 3

9 5 2

6 8 8

? 24 18



Find the missing :-

(A) 3
(B) 4
(C) 5
(D) 6
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3 4 2 6

? 2 5 3

4 2 2 7



Find number Straight line ?

सीधी रेखाओं की संख्या ज्ञात कीपिए?

(A) 19 

(B) 21

(C) 10 

(D) 9



Find the option which should replace (?)
8 + 8 = 72

5 + 5 =  30

7 + 7 = 56

6 + 6 =

(A) 47

(B) 46

(C) 41

(D) 42



Find out from amongst the four alternatives as to how the pattern 

would appear when the transparent sheet is folded at the dotted 

line.

X                   1                   2                 3                 4

(A) 1              (B) 3           (C) 4         (D) 2



Find out from amongst the four alternatives as to how the pattern 

would appear when the transparent sheet is folded at the dotted 

line.

X                   1                   2                 3                 4

(A) 1              (B) 3           (C) 4          (D) 2



There are five houses A,B,C,D and E. 'A' is right of 

'B' and 'E' is left of 'C' and right of 'A'. 'B' is right of 

'D'. The middle house is
A,B,C,D और E िांच घर है A, B के दायी ंओर हैऔर E, C के बाएं

और A के दायी ंओर है। B, D के दायी ंओर है। कौन सा घर मध्य

में है?

(A) A (B) B

(C) C (D) D


